[ Efficiency vs vertpos |

= 0.0%
$.009
)
9.008
(&)
$.007
_U
.006
0.005
0.004
0.003
0.002
0.001]

1.0

Ratio
T |H : -

0.950

1072

107 1

10 0
TP vertr (cr%)

2

Efficiend

—=— DQM_TT _original
—e— DQM_TT_newbranch_pLess
—+— DQM_TT_newbranch_plLessMVACand

~ 0.0

8000k i
%] o . . !
B.008F -+ i B
> E : : :
X0l SERPRRS SN B APPSR S R
g : : : :
$.006f -+ oo B
o o : : : .
0.005F------1---f - AR AR
000af il p i Lo
0008 i i
0,002+ ool
0.001F -5+ i 441
R ++H+ﬂ+ o |
T T THA 218 & i | Y SR
e r : i | |
o4 r : i i i
| L Pttt 1 T 1150 S R
005t : t i i t
=30 -20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.01
>
£0.009
B.008
9.007
>
B.006
R
$#.005
(]
0.004
0.003
0.002
0.001}

1.0

Ratio

+

o

10 15
Sim. PV z (cm)

20




	Contents
	Page 1


